

Kenyon College

Digital Kenyon: Research, Scholarship, and Creative Exchange

Four Valleys Archive

Anthropology

3-14-1990

PVN-RDO-019-H-009

Mary Yaeger
Kenyon College

Follow this and additional works at: <http://digital.kenyon.edu/honduras>



Part of the [Archaeological Anthropology Commons](#)

Recommended Citation

Yaeger, Mary, "PVN-RDO-019-H-009" (1990). *Four Valleys Archive*. Paper 22545.
<http://digital.kenyon.edu/honduras/22545>

This Readout is brought to you for free and open access by the Anthropology at Digital Kenyon: Research, Scholarship, and Creative Exchange. It has been accepted for inclusion in Four Valleys Archive by an authorized administrator of Digital Kenyon: Research, Scholarship, and Creative Exchange. For more information, please contact noltj@kenyon.edu.

Done by ZG

DATE 3-14-90

LOT # CH/9

30

TYPE-VARIETY	BOWLS						JARS						TOTAL		
	Rim	Lip	#	Bases	Handles	Bodies	Other	Rim	Lip	#	Bases	Handles		Bodies	Other
Jicaro Grp													44		44
Jicaro								A-O	C	1					1
La Champa Grp.						6									6
La Champa	X-O	J	1												3
	X-O	a	2												3
Magdalene Grp.											2	Stp=1			3
Monte Grande Grp.													6		6

NON-POTTERY ARTIFACTS:

DISCARDS

TOTAL

COMMENTS/DESCRIPTIONS OF SPECIALS

E

LCI undiff, pass III

63

19/1/9 LOT



1. $\frac{1}{x^2} = x^{-2}$
 $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$

2. $\frac{d}{dx} \frac{1}{x^3} = \frac{d}{dx} x^{-3} = -3x^{-4} = -\frac{3}{x^4}$

3. $\frac{d}{dx} \frac{1}{x^4} = \frac{d}{dx} x^{-4} = -4x^{-5} = -\frac{4}{x^5}$

4. $\frac{d}{dx} \frac{1}{x^5} = \frac{d}{dx} x^{-5} = -5x^{-6} = -\frac{5}{x^6}$

5. $\frac{d}{dx} \frac{1}{x^6} = \frac{d}{dx} x^{-6} = -6x^{-7} = -\frac{6}{x^7}$

6. $\frac{d}{dx} \frac{1}{x^7} = \frac{d}{dx} x^{-7} = -7x^{-8} = -\frac{7}{x^8}$

7. $\frac{d}{dx} \frac{1}{x^8} = \frac{d}{dx} x^{-8} = -8x^{-9} = -\frac{8}{x^9}$

8. $\frac{d}{dx} \frac{1}{x^9} = \frac{d}{dx} x^{-9} = -9x^{-10} = -\frac{9}{x^{10}}$

9. $\frac{d}{dx} \frac{1}{x^{10}} = \frac{d}{dx} x^{-10} = -10x^{-11} = -\frac{10}{x^{11}}$

10. $\frac{d}{dx} \frac{1}{x^{11}} = \frac{d}{dx} x^{-11} = -11x^{-12} = -\frac{11}{x^{12}}$

11. $\frac{d}{dx} \frac{1}{x^{12}} = \frac{d}{dx} x^{-12} = -12x^{-13} = -\frac{12}{x^{13}}$

12. $\frac{d}{dx} \frac{1}{x^{13}} = \frac{d}{dx} x^{-13} = -13x^{-14} = -\frac{13}{x^{14}}$

13. $\frac{d}{dx} \frac{1}{x^{14}} = \frac{d}{dx} x^{-14} = -14x^{-15} = -\frac{14}{x^{15}}$

14. $\frac{d}{dx} \frac{1}{x^{15}} = \frac{d}{dx} x^{-15} = -15x^{-16} = -\frac{15}{x^{16}}$

15. $\frac{d}{dx} \frac{1}{x^{16}} = \frac{d}{dx} x^{-16} = -16x^{-17} = -\frac{16}{x^{17}}$

16. $\frac{d}{dx} \frac{1}{x^{17}} = \frac{d}{dx} x^{-17} = -17x^{-18} = -\frac{17}{x^{18}}$

17. $\frac{d}{dx} \frac{1}{x^{18}} = \frac{d}{dx} x^{-18} = -18x^{-19} = -\frac{18}{x^{19}}$

18. $\frac{d}{dx} \frac{1}{x^{19}} = \frac{d}{dx} x^{-19} = -19x^{-20} = -\frac{19}{x^{20}}$

19. $\frac{d}{dx} \frac{1}{x^{20}} = \frac{d}{dx} x^{-20} = -20x^{-21} = -\frac{20}{x^{21}}$

20. $\frac{d}{dx} \frac{1}{x^{21}} = \frac{d}{dx} x^{-21} = -21x^{-22} = -\frac{21}{x^{22}}$

21. $\frac{d}{dx} \frac{1}{x^{22}} = \frac{d}{dx} x^{-22} = -22x^{-23} = -\frac{22}{x^{23}}$

22. $\frac{d}{dx} \frac{1}{x^{23}} = \frac{d}{dx} x^{-23} = -23x^{-24} = -\frac{23}{x^{24}}$

23. $\frac{d}{dx} \frac{1}{x^{24}} = \frac{d}{dx} x^{-24} = -24x^{-25} = -\frac{24}{x^{25}}$

24. $\frac{d}{dx} \frac{1}{x^{25}} = \frac{d}{dx} x^{-25} = -25x^{-26} = -\frac{25}{x^{26}}$

25. $\frac{d}{dx} \frac{1}{x^{26}} = \frac{d}{dx} x^{-26} = -26x^{-27} = -\frac{26}{x^{27}}$

26. $\frac{d}{dx} \frac{1}{x^{27}} = \frac{d}{dx} x^{-27} = -27x^{-28} = -\frac{27}{x^{28}}$

27. $\frac{d}{dx} \frac{1}{x^{28}} = \frac{d}{dx} x^{-28} = -28x^{-29} = -\frac{28}{x^{29}}$

28. $\frac{d}{dx} \frac{1}{x^{29}} = \frac{d}{dx} x^{-29} = -29x^{-30} = -\frac{29}{x^{30}}$

29. $\frac{d}{dx} \frac{1}{x^{30}} = \frac{d}{dx} x^{-30} = -30x^{-31} = -\frac{30}{x^{31}}$

30. $\frac{d}{dx} \frac{1}{x^{31}} = \frac{d}{dx} x^{-31} = -31x^{-32} = -\frac{31}{x^{32}}$

31. $\frac{d}{dx} \frac{1}{x^{32}} = \frac{d}{dx} x^{-32} = -32x^{-33} = -\frac{32}{x^{33}}$

32. $\frac{d}{dx} \frac{1}{x^{33}} = \frac{d}{dx} x^{-33} = -33x^{-34} = -\frac{33}{x^{34}}$

33. $\frac{d}{dx} \frac{1}{x^{34}} = \frac{d}{dx} x^{-34} = -34x^{-35} = -\frac{34}{x^{35}}$

34. $\frac{d}{dx} \frac{1}{x^{35}} = \frac{d}{dx} x^{-35} = -35x^{-36} = -\frac{35}{x^{36}}$

35. $\frac{d}{dx} \frac{1}{x^{36}} = \frac{d}{dx} x^{-36} = -36x^{-37} = -\frac{36}{x^{37}}$

36. $\frac{d}{dx} \frac{1}{x^{37}} = \frac{d}{dx} x^{-37} = -37x^{-38} = -\frac{37}{x^{38}}$

37. $\frac{d}{dx} \frac{1}{x^{38}} = \frac{d}{dx} x^{-38} = -38x^{-39} = -\frac{38}{x^{39}}$

38. $\frac{d}{dx} \frac{1}{x^{39}} = \frac{d}{dx} x^{-39} = -39x^{-40} = -\frac{39}{x^{40}}$

39. $\frac{d}{dx} \frac{1}{x^{40}} = \frac{d}{dx} x^{-40} = -40x^{-41} = -\frac{40}{x^{41}}$

40. $\frac{d}{dx} \frac{1}{x^{41}} = \frac{d}{dx} x^{-41} = -41x^{-42} = -\frac{41}{x^{42}}$

41. $\frac{d}{dx} \frac{1}{x^{42}} = \frac{d}{dx} x^{-42} = -42x^{-43} = -\frac{42}{x^{43}}$

42. $\frac{d}{dx} \frac{1}{x^{43}} = \frac{d}{dx} x^{-43} = -43x^{-44} = -\frac{43}{x^{44}}$

43. $\frac{d}{dx} \frac{1}{x^{44}} = \frac{d}{dx} x^{-44} = -44x^{-45} = -\frac{44}{x^{45}}$

44. $\frac{d}{dx} \frac{1}{x^{45}} = \frac{d}{dx} x^{-45} = -45x^{-46} = -\frac{45}{x^{46}}$

45. $\frac{d}{dx} \frac{1}{x^{46}} = \frac{d}{dx} x^{-46} = -46x^{-47} = -\frac{46}{x^{47}}$

46. $\frac{d}{dx} \frac{1}{x^{47}} = \frac{d}{dx} x^{-47} = -47x^{-48} = -\frac{47}{x^{48}}$

47. $\frac{d}{dx} \frac{1}{x^{48}} = \frac{d}{dx} x^{-48} = -48x^{-49} = -\frac{48}{x^{49}}$

48. $\frac{d}{dx} \frac{1}{x^{49}} = \frac{d}{dx} x^{-49} = -49x^{-50} = -\frac{49}{x^{50}}$

49. $\frac{d}{dx} \frac{1}{x^{50}} = \frac{d}{dx} x^{-50} = -50x^{-51} = -\frac{50}{x^{51}}$

50. $\frac{d}{dx} \frac{1}{x^{51}} = \frac{d}{dx} x^{-51} = -51x^{-52} = -\frac{51}{x^{52}}$

51. $\frac{d}{dx} \frac{1}{x^{52}} = \frac{d}{dx} x^{-52} = -52x^{-53} = -\frac{52}{x^{53}}$

52. $\frac{d}{dx} \frac{1}{x^{53}} = \frac{d}{dx} x^{-53} = -53x^{-54} = -\frac{53}{x^{54}}$

53. $\frac{d}{dx} \frac{1}{x^{54}} = \frac{d}{dx} x^{-54} = -54x^{-55} = -\frac{54}{x^{55}}$

54. $\frac{d}{dx} \frac{1}{x^{55}} = \frac{d}{dx} x^{-55} = -55x^{-56} = -\frac{55}{x^{56}}$

55. $\frac{d}{dx} \frac{1}{x^{56}} = \frac{d}{dx} x^{-56} = -56x^{-57} = -\frac{56}{x^{57}}$

56. $\frac{d}{dx} \frac{1}{x^{57}} = \frac{d}{dx} x^{-57} = -57x^{-58} = -\frac{57}{x^{58}}$

57. $\frac{d}{dx} \frac{1}{x^{58}} = \frac{d}{dx} x^{-58} = -58x^{-59} = -\frac{58}{x^{59}}$

58. $\frac{d}{dx} \frac{1}{x^{59}} = \frac{d}{dx} x^{-59} = -59x^{-60} = -\frac{59}{x^{60}}$

59. $\frac{d}{dx} \frac{1}{x^{60}} = \frac{d}{dx} x^{-60} = -60x^{-61} = -\frac{60}{x^{61}}$

60. $\frac{d}{dx} \frac{1}{x^{61}} = \frac{d}{dx} x^{-61} = -61x^{-62} = -\frac{61}{x^{62}}$

61. $\frac{d}{dx} \frac{1}{x^{62}} = \frac{d}{dx} x^{-62} = -62x^{-63} = -\frac{62}{x^{63}}$

62. $\frac{d}{dx} \frac{1}{x^{63}} = \frac{d}{dx} x^{-63} = -63x^{-64} = -\frac{63}{x^{64}}$

63. $\frac{d}{dx} \frac{1}{x^{64}} = \frac{d}{dx} x^{-64} = -64x^{-65} = -\frac{64}{x^{65}}$

64. $\frac{d}{dx} \frac{1}{x^{65}} = \frac{d}{dx} x^{-65} = -65x^{-66} = -\frac{65}{x^{66}}$

65. $\frac{d}{dx} \frac{1}{x^{66}} = \frac{d}{dx} x^{-66} = -66x^{-67} = -\frac{66}{x^{67}}$

66. $\frac{d}{dx} \frac{1}{x^{67}} = \frac{d}{dx} x^{-67} = -67x^{-68} = -\frac{67}{x^{68}}$

67. $\frac{d}{dx} \frac{1}{x^{68}} = \frac{d}{dx} x^{-68} = -68x^{-69} = -\frac{68}{x^{69}}$

68. $\frac{d}{dx} \frac{1}{x^{69}} = \frac{d}{dx} x^{-69} = -69x^{-70} = -\frac{69}{x^{70}}$

69. $\frac{d}{dx} \frac{1}{x^{70}} = \frac{d}{dx} x^{-70} = -70x^{-71} = -\frac{70}{x^{71}}$

70. $\frac{d}{dx} \frac{1}{x^{71}} = \frac{d}{dx} x^{-71} = -71x^{-72} = -\frac{71}{x^{72}}$

71. $\frac{d}{dx} \frac{1}{x^{72}} = \frac{d}{dx} x^{-72} = -72x^{-73} = -\frac{72}{x^{73}}$

72. $\frac{d}{dx} \frac{1}{x^{73}} = \frac{d}{dx} x^{-73} = -73x^{-74} = -\frac{73}{x^{74}}$

73. $\frac{d}{dx} \frac{1}{x^{74}} = \frac{d}{dx} x^{-74} = -74x^{-75} = -\frac{74}{x^{75}}$

74. $\frac{d}{dx} \frac{1}{x^{75}} = \frac{d}{dx} x^{-75} = -75x^{-76} = -\frac{75}{x^{76}}$

75. $\frac{d}{dx} \frac{1}{x^{76}} = \frac{d}{dx} x^{-76} = -76x^{-77} = -\frac{76}{x^{77}}$

76. $\frac{d}{dx} \frac{1}{x^{77}} = \frac{d}{dx} x^{-77} = -77x^{-78} = -\frac{77}{x^{78}}$

77. $\frac{d}{dx} \frac{1}{x^{78}} = \frac{d}{dx} x^{-78} = -78x^{-79} = -\frac{78}{x^{79}}$

78. $\frac{d}{dx} \frac{1}{x^{79}} = \frac{d}{dx} x^{-79} = -79x^{-80} = -\frac{79}{x^{80}}$

79. $\frac{d}{dx} \frac{1}{x^{80}} = \frac{d}{dx} x^{-80} = -80x^{-81} = -\frac{80}{x^{81}}$

80. $\frac{d}{dx} \frac{1}{x^{81}} = \frac{d}{dx} x^{-81} = -81x^{-82} = -\frac{81}{x^{82}}$

81. $\frac{d}{dx} \frac{1}{x^{82}} = \frac{d}{dx} x^{-82} = -82x^{-83} = -\frac{82}{x^{83}}$

82. $\frac{d}{dx} \frac{1}{x^{83}} = \frac{d}{dx} x^{-83} = -83x^{-84} = -\frac{83}{x^{84}}$

83. $\frac{d}{dx} \frac{1}{x^{84}} = \frac{d}{dx} x^{-84} = -84x^{-85} = -\frac{84}{x^{85}}$

84. $\frac{d}{dx} \frac{1}{x^{85}} = \frac{d}{dx} x^{-85} = -85x^{-86} = -\frac{85}{x^{86}}$

85. $\frac{d}{dx} \frac{1}{x^{86}} = \frac{d}{dx} x^{-86} = -86x^{-87} = -\frac{86}{x^{87}}$

86. $\frac{d}{dx} \frac{1}{x^{87}} = \frac{d}{dx} x^{-87} = -87x^{-88} = -\frac{87}{x^{88}}$

87. $\frac{d}{dx} \frac{1}{x^{88}} = \frac{d}{dx} x^{-88} = -88x^{-89} = -\frac{88}{x^{89}}$

88. $\frac{d}{dx} \frac{1}{x^{89}} = \frac{d}{dx} x^{-89} = -89x^{-90} = -\frac{89}{x^{90}}$

89. $\frac{d}{dx} \frac{1}{x^{90}} = \frac{d}{dx} x^{-90} = -90x^{-91} = -\frac{90}{x^{91}}$

90. $\frac{d}{dx} \frac{1}{x^{91}} = \frac{d}{dx} x^{-91} = -91x^{-92} = -\frac{91}{x^{92}}$

91. $\frac{d}{dx} \frac{1}{x^{92}} = \frac{d}{dx} x^{-92} = -92x^{-93} = -\frac{92}{x^{93}}$

92. $\frac{d}{dx} \frac{1}{x^{93}} = \frac{d}{dx} x^{-93} = -93x^{-94} = -\frac{93}{x^{94}}$

93. $\frac{d}{dx} \frac{1}{x^{94}} = \frac{d}{dx} x^{-94} = -94x^{-95} = -\frac{94}{x^{95}}$

94. $\frac{d}{dx} \frac{1}{x^{95}} = \frac{d}{dx} x^{-95} = -95x^{-96} = -\frac{95}{x^{96}}$

95. $\frac{d}{dx} \frac{1}{x^{96}} = \frac{d}{dx} x^{-96} = -96x^{-97} = -\frac{96}{x^{97}}$

96. $\frac{d}{dx} \frac{1}{x^{97}} = \frac{d}{dx} x^{-97} = -97x^{-98} = -\frac{97}{x^{98}}$

97. $\frac{d}{dx} \frac{1}{x^{98}} = \frac{d}{dx} x^{-98} = -98x^{-99} = -\frac{98}{x^{99}}$

98. $\frac{d}{dx} \frac{1}{x^{99}} = \frac{d}{dx} x^{-99} = -99x^{-100} = -\frac{99}{x^{100}}$

99. $\frac{d}{dx} \frac{1}{x^{100}} = \frac{d}{dx} x^{-100} = -100x^{-101} = -\frac{100}{x^{101}}$

100. $\frac{d}{dx} \frac{1}{x^{101}} = \frac{d}{dx} x^{-101} = -101x^{-102} = -\frac{101}{x^{102}}$